RLB ROLLER SCREWS
R&HS imAo
Spring Washer . A Guide Rollers
AN
M FH: o
: I,Q{j[—‘— r
5 \ 1 -
B DI %jﬂﬁ* ‘ e
Hexagon Nut 715 ijji ﬁ_
Y e & AN
o T
W L2 L A L1
Body
S45C steel
Black oxide finished
PartNumberl (2 | L | D1 | w | A M| Lo | M| Lo |Mesht
(g7) (g)
RLB0612 6 12 12 10 7 M 6X1 1 M 5X0.8 6.5 15
RLB0814 8 14 16 13 8.5 | M10X1.5 M 6X1 8.5 30
RLB1016| 10 16 20 17 8 M12X1.75| 15 M 8X125| 10 70
RLB1220| 12 20 23 19 10 M16X2 25 M10X15 | 125 | 100
RLB1522| 15 22 25 22 15 T M12x1.75| 155 | 160

Use as a shaft for Guide Rollers.



